-l -

[This question paper contains 8 printed pages.)

y“”r ’{("l x(’atoa;‘aaoocli"

Sr. No. of Question Paper ¢ 3391 E
Unique Paper Code : 02271201

Name of the Paper : Principles of Microeconomics I
Name of the Course . B.A. (Prog.) Core

Semester : 1

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receip:
of this question paper.

2. Answer any five questions.

3. All questions carry equal marks

4. Answers may be written either in English or Hindi but
the same medium should be used throughout the

paper.
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I. Why are market outcomes not efficient in the presence

2.

of externality? Explain in detail using one example
€ach of positive as well as negative externality.
(15)
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A person who buys a life insurance policy pays a
Certain amount per year and recejves for his family a
much larger payment in the event of his death. Would
you expect buyers of life insurance to have higher or
lower death rates than the average person? Is this an
éxample of moral hazard or adverse selection? Explain
the concept of moral hazard and adverse selection in

detail. (15)
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Let us assume that there are two countries, A and B,
which produce two commodities, say X and Y each.
If country A has absolute advantage in the production
of both the commodities, i.e. X and Y, can there be
a possibility that a mutually beneficial trade happen

between countries A and B? Explain with an example.

(15)
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(a) What is profit maximising Output and priee for the
firm?

(b) Calculate equilibrium profit for the monopolist

(c) Suppose that the monopolist exhibits perfectly price
discriminatory behaviour. What will be the

monopolist's profit in this case? Compare with the
result in part (b),

(d) Compare the surplus that accrues to the consumer
in part (a) and part (c) using diagram. (4+2+4+5)
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5. (a) Draw and explain a diagram to show the long run
equilibrium 1n a monopolistically competitive
market. How does this equilibrium differ from that

in a perfectly competitive market?

(b) The textile industry of a country advocates a ban
on the import of wool suits. Describe five

arguments its lobbyists might make. (10+5)

(%) VIR &7 ¥ gfre 9WR ¥ AUhE ®
e Y i & forg Y Sy SR SR e
B ot TRERT S A AgE ¥ 98 T
= 2 7

(@) frdr 3w o wHogr IAN T

R @7 TS FEl B e et
i @ gEd Bl

P.T.O.



3391 6

6. Explain how a perfectly competitive profit maximising
firm derives its demand for labour. What are the
factors that lead to a shift in labour demand function?

(15)
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7. Imagine that two oil companies, A and B, own adjacent
oil fields. Under the fields is a common pool of oil
worth Rs. 12 million. Drilling a well to recover the oil
costs Rs. I million. If each company drills one well,
each will get half of the oil. Suppose that either
company could drill a second well. If one company
has two of the three wells, that company gets two-

thirds of the oil and the other company gets one-third

of the oil. Yet if each company drills a second well,

the two companies again split the oil.

(a) Draw the payoff matrix for this game

(b) Define dominant strategy for a player. Is there
any dominant strategy for either the players? If
yes, pleas€ specify.

(c) What is the Nash equilibrium for the game?
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(d) What the Similarity between (he problem of
co‘mmon re.source stated in the question and
prlsonerS' dllemma? (4;3;3}5}
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. (a) What are the four different types of goods based
on these two characteristics, i.e. excludable and
rivalrous in consumption? Explain these
characteristics and goods' groups in detail.

(b) What is free rider problem? (10+5)
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